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CE469 Advanced Solid Mechanics Quiz-2 31/3/12

e  Show all working.

o Attempt all parts of a question in a contiguous manner, i.e., dont scatter parts of the same question
all over the answerbook.

e Only one attempt per question will be graded. So cancel out any attempt you do not want
graded. The first not-cancelled attempt will be graded by default.

e Open notes (in your handwriting only, no photocopies). No solved examples allowed.

P1. A large plate has a small circular hole of radius a. The plate is loaded by uniform
tension q applied parallel to the x- axis and by uniform pressure p applied at the
hole, as shown. Determine:

(a) The stresses in the plate

(b) The least value of p for which o, is tensile everywhere along the hole.

P2. The long gravity wall shown has a density o and is subject to uniform shear q

along the right face. It is restrained at its two end faces (i.e., where z is a constant).
Assuming o, = f[x], determine the stresses in the wall.
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